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QUESTION 1
1.1 State whether the following numbers are rational or irrational. (5) S1001
1.1.1 —0,01572
1.1.2 364
V8
1.1.3 5
1.14 1,35
1.1.5 394
1.2 Write the recurring decimal 0, 81 as a fraction 3) S1001
1.3 Simplify the following expression:
(2a — 3b)(4a? + 6ab + 9b?) 3) 51003
[11]
QUESTION 2
Factorise the following expressions:
2.1 3x%—12x (3) | S1004+5
22 x(x—8)+15 (3) | S1006(2)
23 6a*+2a—3ab-b (3) | S1004
2.4 8b3+27 (3) | S1005
25 6x2+x—15 (3) | S1006
[15]
QUESTION 3
Solve the following equations:
31 8(x+1)—2x=7(3—x) (4) S1013
3 3 2
3.2 = 4 S1013
x—2+x+2 x? —4 @
33 x(x—10)=x-10 4 S1015
34 x+3y=5
2 —2y =2 @ | sloi6
35 If :_Z = 2 determine x in terms of a and b. (€] S1014
5
3.6 z+15<?x—2 @ | si018

[24]



QUESTION 4
Simplify the following:

_ 2

4.1 Szb Eb . 6i - @) | s1007
a— a

43 ! @ | s1008

T y—-2 y-3

8]

QUESTION 5

Simplify the following:

5.1 23 x 2% 1) | $1009

52 6p° x (7p)° G3) | $1009
253\ 3

5.3 (%) 3) | S1009
a
x—2 x—1

5.4 33”% 3) | sioi
2n n

55 % 3) | s1010
2x—-1 gx—2

56 5152—;23 @ | sio10

[17]
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